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. B B £ B 2,033, 126 2,097, 410 A 64, 284 96.9
T Ml & 7 1,910, 113 1,906, 772 3, 341 100. 2
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h /N &t 4,629, 315 4,678, 004 A 48, 689 99. 0
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B 4 # K+ & 4, 000 0.0 4, 400 0.0 A 400 90.9
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g e kA #H e 159, 569 1.2 167, 409 1.3 A 7,840 95.3
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] 53 s & 578, 508 4.4 610, 863 4.7 | A 32,355 94. 7
i) JE A 13,715 0.1 18, 593 0.1 A 4,878 73.8
#F Bt 4 4 0.0 4 0.0 0 100.0
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w AN B 13,170,000 | 100.0 | 13,110,000 | 100.0 60, 000 100. 5
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R A4 & 2, 399, 402 18. 2 2,410, 730 18. 4 A 11,328 99.5
f&i 4 # 773, 385 5.9 678, 269 5.2 95,116 | 114.0
95 18 # 19, 253 0.2 19, 663 0.1 A 410 97.9
f G # 174, 262 1.3 202, 951 1.5 A\ 28,689 85.9
P T # 703, 707 5.4 242,909 1.9 460, 798 | 289.7
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H %3] # 420, 994 3.2 419, 352 3.2 1,642 | 100.4
# IS # 1, 002, 360 7.6 965, 419 7.4 36,941 | 103.8
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% = 13,170,000 | 100.0 | 13,110,000 | 100.0 60, 000 100. 5
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